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] i & H 606,176 7,200 613,376
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N 3 = #% 54,899,370 A 54,899,370 0
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e ) 52,459,875 1,438,269 53,898,144
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# 3 ) 1,117,305 1,117,305
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T Hh 90,583,280 90,583,280
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vk 1-4%Y7%b 4,498,099 4,498,099
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I 85D 28,622,543 0 54,917,000 311,275,237| A 365,514,407 29,300,373
(1) RBEE 28,622,543 0 54,917,000 660,200 A 54,899,370 29,300,373
R % = 9,459,003 17,630 438,200 9,914,833
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i Y = 776,222 776,222
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1) - X & # 9,957,018 9,957,018
x B OEFE AN B OF 4,832,100 222,000 5,054,100
x ® H # 3,598,200 3,598,200
X B F X F & B 54,899,370 A 54,899,370 0
(2) EERE 0 0 0 310,615,037| A 310,615,037 0
X B E X F £ F 0 0 310,615,037] A 310,615,037 0
I 1F K BA 7 588,615,664 0 0 43,078,102 0 631,693,766
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